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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination

paper.

Further copies of this mark scheme are available from aga.org.uk

Copyright information

AQA retains the copyright on all its publications. However, registered schools/colleges for AQA are permitted to copy material from this booklet for their own
internal use, with the following important exception: AQA cannot give permission to schools/colleges to photocopy any material that is acknowledged to a third
party even for internal use within the centre.

Copyright © 2021 AQA and its licensors. All rights reserved.




MARK SCHEME — A-LEVEL MODERN HEBREW - 7672/3 — JUNE 2021

Section A Listening
Comprehension questions to be answered in target language but with no AO3 marks

Where the natural answer to a question consists entirely or partly of words or phrases from the

recording, students may use that material without rephrasing it. Minor spelling errors which do not distort
the meaning will be tolerated. However, the AO1 mark will not be awarded for a response in which the
student includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an
element from the original which does not match the phrasing of the question set.

Qu Accept Mark
01.1 N 1
Qu Accept Mark
01.2 a 1
Qu Accept Mark
01.3 a 1
Qu Accept Mark
01.4 N 1
Qu Accept Mark
01.5 2 1
Qu Accept Mark
01.6 a 1
Qu Accept Mark
01.7 b} 1
Qu Accept Mark
01.8 2 1
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Qu Accept Reject Mark

AN HNY NN P2 SNV
02.1 i~ 1

AN INY NN P2 TITN YNNNI

Qu Accept Reject Mark
02.2 SY/DIVDMIN TP DV DY IRIPI NN DW1 / NMIN M2 DITNN D 1
' DILOMIN TDIPN DV DIVOMIN TDPN
Qu Accept Mark
02.3 ;0NN I 3 3
(P 1 O
PV
0NN
DN NHN

.(PY5 2>200) NN NN

Qu Accept Mark
02.4 YTIPN XIND INIY DIINN)/D2I29N/DINY) 1
Qu Accept Reject Mark
02.5 NNNY RIPY 327 NN VY DINDYIN VAYN NP TN 1

Y29/MNY I XDPY 229 WVONT/
MNY N XDPY

Qu Accept Mark

:DON2 2
02.6 N2 TN 2
DOPINYN MMPNN Y31 P>
DOVINNP INYH
(7791 PIVNINT) MINN MNIY
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Qu Accept Mark
03.1 3,9, n (in any order) 3
Qu Accept Mark
03.2 N, 7, 1 (in any order) 3
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Summary questions

The marks for content (AO1) and language (AO3) are awarded independently. Long summaries will be
marked for content (AO1) or language (AO3) only as far as the first natural break (usually the end of a
sentence or main clause) between 90 and 100 words. Short summaries are not subject to an automatic
penalty but in practice are unlikely to include all the required content points and will therefore be
self-penalising.

The AO1 mark is awarded for content points which contain the required information, regardless of
whether those points are expressed in the student’s own words, or are partly or wholly lifted from the
recording. However, no AO1 mark will be awarded for a content point where the student includes
irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an element from the
original which does not match the phrasing of the bullet point. ‘Lifted’ language will not be eligible for
credit when the AO3 mark is awarded.

Minor errors are defined as those which do not affect communication.
Serious errors are defined as those which adversely affect communication.

Minor errors include:
Incorrect but close to correct spellings.

Serious errors include:
Incorrect verb forms especially irregular forms incorrect use of pronouns.

Complex language includes:

Use of pronouns of all type

tenses that support conceptual complexity

connectives supporting a range of subordinate clauses including those requiring subjunctive
constructions with verbs and verbs followed by infinitive with correct preposition use of present and past
participles.




MARK SCHEME — A-LEVEL MODERN HEBREW - 7672/3 — JUNE 2021

Mark | AO3 quality of language marks in listening and reading summary tasks

The language produced is mainly accurate with only occasional minor errors. The student
5 shows a consistently secure grasp of grammar and is able to manipulate complex
language accurately where required by the task.

The language produced is generally accurate, but there are some minor errors. The
4 student shows a generally good grasp of grammar and is often able to manipulate
complex language accurately where required by the task.

The language produced is reasonably accurate, but there are a few serious errors. The
3 student shows a reasonable grasp of grammar and is sometimes able to manipulate
complex language accurately where required by the task.

The language produced contains many errors. The student shows some grasp of
2 grammar and is occasionally able to manipulate complex language accurately where
required by the task.

The language produced contains many errors of a basic nature. The student shows little
1 grasp of grammar and is rarely able to manipulate complex language accurately where
required by the task.

0 The student produces nothing worthy of credit.
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Qu 04 Accept Reject Notes Mark
YTIN, DY NN DV TN | 3o 37 w oTInvw ony D | Reject first person
OIOPN 2512 YONIW HY N NEX MHN 1oy | direct speech.
95 NN N XN .7PPNIVI LAPN TN
NI ,ND NI, AVIN NIV NN DN (PYNI 1) ¥ ¥ DN
Buil et PoN3N NPOAY NIV DINNN N 2
DN NNy
2513 PORIY YTIN STIN PYY
PNV VITVIN
DOMAN IRNIY DV )2
12 DNDNNY NI NI .N IR WT DVINY NI XN | Reject first person
9Y YT/ TINN DYWN NN .0>1NY v oy mo | direct speech.
DTINN D2WN
112> DINDNNY NI NN .2
Bullet YV /DXTIND DT DNV
2 D>1INY GMWNN N NN 2
INT OMNDNNYW/DMNIND)
V> 2970 MUN MINOY
DTN P2 PHT N2
.DM>ND
DYNN Y WY IR NI @ TN NINIRY D727 | Reject first person
GNY NN NI DTN (mxy Yy »nw x| direct speech.
N9 IN DINPD DT ON DY MY .7PNOVI VITVIN 291
OONTD DN AN XN .D>TIND INUND
YN YD oY ey e |1 NN AN KINY AR DS
191 1972 TN DR INNTY YWy PININ
SV IMN THYOY DONAN
Bullet NPV PN @ S 3
3 922 MNN SN NNYPN

NP N NYTY IMANIN @
ooy

N9 WAYNNY AMN NI @

29y 991, PNRN DTRYYTIN
DY MYV 2V XN NavY
...NDIDN M2 PV 2N

SNYNN DDWN
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Section B
Question 5 Translation (into target language)

Errors of spelling
Errors of spelling will not be tolerated.

Tense endings, irregular verb forms and adjective endings must be correct.

Errors of gender
Errors of gender will not be tolerated. Genders of nouns are clearly an area where guidance
canbe provided in the passage that supports the translation task.

Alternative answers
Alternative answers offered by the candidate — even if one is in brackets — will be rejected
unless both answers are correct.

A successful translation
A successful translation is one which includes each element of the text to be translated and
where there is no omission or paraphrase.

Repeated errors
Where a candidate repeats the same error within a question, no further penalty will be imposed
in awarding the mark.
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Qu
5 The table below shows the type of answer that is acceptable for each section of the text.
Award one tick per correct section then use the conversion grid to award a total of 10 marks.
Box English Accept Reject
(5¥) MID(N AN NN) N/999% N MDD NN YTV NN
1 | remember Sukkot of 1968
1968
. DINNN N DY IIND YN NIV IND
2 as if it were yesterday.
NN PNY
. WI/TD YN \OP SN
3 | was a kid,
. NN 92 N ION INNN 921N ND
4 not even a Bar Mitzva
MNIN YW N
L ] »N2/0»N2 MIYRIN DY D»N3 NNNX DYM
5 and for the first time in my life
NNYNXIDY N2 NNIYNID
YNIN NYIANATIN NPY YNV NN YHY NN
6 my father took me
wrong verb
D29ynn SMoo 3/29YNN VPO
7 to the Western Wall
i [aRPIVARER
8 in Jerusalem.
. ¥ 20N NN "IN NIN
9 He explained to me
] NNNDNY /DM1 NYY NHNDNHY DM YW NNNON
10 | that the Six Day War
DIN-NYY
NNMNON/NININ 190/771)
11 was over
D'7vN AV, DY ’ DOV
12 | and that Jerusalem v W1 eoeY
. Y/ OV NN DNOY W NNMN
13 | was ours again
DYV NIV, 0¥ TIY/NNIVI/NOY
MOV NN
PYIY 02137 NN 1DV IN Y N5YY /959112 N IN
14 | so we can now pray there.
PYOY IWIN WX /OV DO9NND wrong verb or tense
.NNY/oY 5oannD
o OOV 57D NMOYN DWWYPY NSO
15 | The pilgrimage to Jerusalem
, INNN/MIND NN DYMINND NNONN
16 | was God’'s commandment
NINN MO DY) DIPIYN/DIMIOND
NN NNMN /(0w ow Y
NN ONIN DI/IMIN IN/DYNIND
NN /MIN

10
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1957 NWHN/IND DIDIY/DIWVINY Wrona verb
17 | and people came 9
991/8IND YIAY/INSP DN MO TRI/MNIND DN
18 | from all over the country.
INIW/NPTIN
NNMN NNY
19 It was
N2YIN NN TITI/NDIN TIT 1290 995N
20 | along way
. . DIV NOYW NNOVIN DYWL NOW NNOYD
21 | from our neighbourhood in
Jerusalem
. /N0 MY 9 DY GRY MIND N'P/9MN/22ANND I
22 and although it was autumn,
GN DY/ PNON MDY
(MNY3a) 92310 7PNV MINDY/1PNON
»PNON
) 15 N /TN ON 77/ DN TRD 77 DN NY NPN/DIN N
23 | itwas very warm.
.D>PN/DN
) 0NN NYAIN NN ONPINN D»N DY NYIAIN SNNPY
24 | | held the four species.
) — NNV NIYINYI/AIUNRD NO5NYI
25 | When we arrived —
/D217 DOWIN PTI/DOWIN NN PN DYVIN TN V1
26 | there were many people (19 99) NI
[proving understanding]
i Y9591 /1NN 190NNV Wrong verb
27 | all praying together —
PIN O9/ T
] .39-99 11D 927 1PN XD DY N 7PN ND DY OGN INWN
28 | something | had never seen
92T ORI ND
before. .2Y2/5N2/00/719
.D2WNHOINT ROV 2T
NI INUN OTPRI NY O»N2
[12y3] M0 >IN ROV INWN
[using the verb in the past
proving understanding of the
tense]
i ONWVIINN o Yo YNNNY/ANWIIN T 9D
29 | I was so excited,
TND SNYIINN
/M02Y YNONNNY/N520 YNONNT/ NYIPO/PIVSD
30 | I began to cry.

Rappmnl

11
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28-30 10
25-27 9
22-24 8
19-21 7
16-18 6
13-15 5
10-12 4
7-9 3
4-6 2
1-3 1

0 0

12
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Section C
Multi-skill task Question 6

Assessment objectives 1, 2 and 3

Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There is one mark in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1: Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2: Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.

13
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Assessment criteria

Each assessment objective should be assessed independently.

Students are advised to write approximately 200 words per essay. Everything that students write must
be assessed,; there is no word limit. Students writing the recommended length have access to the full
range of marks.

Assessment Objective 1

Mark AO1
Very good evaluation of the source

9-10 | The relevant information from the spoken source material has been fully understood.
Arguments/views are very effectively summarised and there is extensive evidence of
drawing appropriate conclusions.
Good evaluation of the source

7=8 | Most of the relevant information in the spoken source material has been clearly
understood. Arguments/views are effectively summarised and there is frequent evidence
of drawing appropriate conclusions.
Reasonable evaluation of the source

5-6 | Some of the relevant information in the spoken source material has been understood.
There is some evidence of summarising arguments/views and of drawing appropriate
conclusions.
Limited evaluation of the source

3—4 | Alimited amount of relevant information in the spoken source has been understood.
There is limited evidence of summarising arguments/views and of drawing appropriate
conclusions.
Very limited evaluation of the source

1-2 | A very limited amount of the relevant information in the spoken source has been
understood. There is rarely evidence of summarising arguments/views and of drawing
appropriate conclusions.

0 The student produces nothing worthy of credit.

14
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Assessment Objective 2

Mark AO2

Very good evaluation of the source

9-10 | The relevant information from the written source material has been fully understood.
Arguments/views are very effectively summarised and there is extensive evidence of
drawing appropriate conclusions.

Good evaluation of the source

7-8 | Most of the relevant information in the written source material has been clearly
understood. Arguments/views are effectively summarised and there is frequent evidence
of drawing appropriate conclusions.

Reasonable evaluation of the source

5-6 | Some of the relevant information in the written source material has been understood.
There is some evidence of summarising arguments/views and of drawing appropriate
conclusions.

Limited evaluation of the source

3-4 | A limited amount of relevant information in the written source has been understood. There
is limited evidence of summarising arguments/views and of drawing appropriate
conclusions.

Very limited evaluation of the source

1-2 | A very limited amount of the relevant information in the written source has been
understood. There is rarely evidence of summarising arguments/views and of drawing
appropriate conclusions.

0 The student produces nothing worthy of credit.

15
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Assessment Objective 3

Mark AO3

The language produced is mainly accurate with only occasional minor errors. The student
shows a consistently secure grasp of grammar and is able to manipulate complex
language accurately. The student uses a wide range of vocabulary appropriate to the
context and the task.

9-10

The language produced is generally accurate, but there are some minor errors. The
student shows a generally good grasp of grammar and is often able to manipulate
complex language accurately. The student uses a good range of vocabulary appropriate
to the context and the task.

The language produced is reasonably accurate, but there are a few serious errors. The
student shows a reasonable grasp of grammar and is sometimes able to manipulate
complex language accurately. The student uses a reasonable range of vocabulary
appropriate to the context and the task.

5-6

The language produced contains many errors. The student shows some grasp of
3-4 | grammar and is occasionally able to manipulate complex language accurately. The
student uses a limited range of vocabulary appropriate to the context and the task.

The language produced contains many errors of a basic nature. The student shows little
1-2 | grasp of grammar and is rarely able to manipulate complex language accurately. The
student uses a very limited range of vocabulary appropriate to the context and the task.

0 The student produces nothing worthy of credit.

16
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Minor errors are defined as those which do not affect communication.
Serious errors are defined as those which adversely affect communication.

Minor errors include:
Incorrect but close to correct spellings.

Serious errors include:
Incorrect verb forms especially irregular forms incorrect use of pronouns.

Complex language includes:

Use of pronouns of all types

Tenses that support conceptual complexity connectives supporting a range of subordinate clauses
including those requiring subjunctive constructions with verbs and verbs followed by infinitive with correct
preposition

Use of present and past participles.

Indicative content:
Problems/difficulties:

Social problems:

e They feel that veteran Israelis do not like Russian speakers,

e The veteran Israelis mock their accent,

e Loneliness,

¢ Difficulty integrate and climbing the social ladder.

*They can’t get married or divorced if they’re not Jewish from their maternal side.

Economic problems:
e Some immigrants had to give up their profession because the training didn’t qualify in Israel
¢ Parents cannot support the younger generation, they have no pension.

Physical problems:

e Hot weather

e The percentage of immigrants who would be willing to leave Israel is 50%, compared to 10% of the
natives.

Successes

They have a good income, flats and friends.

In their later stages in life (during their army service and studies) the immigrants’ social situation is
improving.

A million immigrants arrived.

According to the study, the younger generation (“generation 1.5”) are middle-class and work as
physicians, lawyers, teachers etc.
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